
Round answers to nearest tenth.



-5 -4 -3 -2 -1 0 1 2 3 4 5

-5

-4

-3

-2

-1

1

2

3

4

5

x

y

If the diagonal of a rectangle is 30 cm., and the length
is 14 cm., what is the width of the rectangle?

Multiply the following binomial.

Find the area of the shaded region.

Round answers to nearest tenth.
- Week 3 block day



Warmup Week 3 Friday

 Make a sketch of three planes 
       intersecting at a point.

1.  Find the area of a circle with the radius of 14 cm.

3x - 2

x + 7

Round to nearest tenth.


